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IEGL | HIE | Eviry| BmES PN 3] Rig B4 L mERA S BEP | HEF
1| 37 30|/RE —F& JxH R |MIVFLRI-TYT 9.31 931 | BX
2| 19 15| KE f#z Pa—L & [92hyaa-%-Av7-9 9.67 967 | B
3l 1 46 FEEFN ¥ ROY (A1) S |MIVFIRI-TIT 9.79 9.79 | &
4| 49 73|F%@E LLUA VO A ZZFaTE V- 9.86 9.86 | R
5( 23 271/ ik BE HZERAL) 2 |4 9.94 9.94 | &
6 8 57| =F a—v S |Yybab =7 oy 10.14 10.14 | BR
7 7 62(*FH XEiK R Sl VA == 10.31 1031 | B%
8 12 102|{FikE =14 UM 2 |ZzFaTt VY- 10.34 1034 | &
9| 32 52|ch¥ fEth Colei @ |V eIV T)T 10.41 1041 | 3
10[ 39 70|AH = = I | & 10.56 1056 | R
11| 30 3|AN BEE ([Simba(Pi/N) | & [V eviFvtlTIT 10.86 1086 | #2
12| 52 61|FFE & 49 S A == 11.00 11.00 | 30
13 1 12| KB #2Z Ea 2 [91hYaa-%-AV7E-9|  11.02 11.02 | 29
14 17 84|HHA —F ANGE(7Y¥"1) @ |3ZFaTE VY- 11.07 11.07 | B
14| 24 6|AR HBx HEIE( BBAY) 2 |1BERTIT 11.07 11.07 | 28
16] 20 o|¥ER B= AN 2 |V evivENT)T 11.09 1109 | 27
17 4 17| KT OB E |CASR & |MIVFIR4-TYT 11.12 1112 26
18| 50 34(T&E IEF e (ah) 2 1BERTIT 11.22 1122 | 25
19 35 18| KT E£W#H |Latte (57) 2 |V evh7vENTIT 11.24 1124 | 24
20| 41 22|45 KN BE(T1T) 2 E=FL 11.32 11.32| 23
21 5 33| TEE IETF IETE (V&) 2 1BRTUT 11.33 1133 | 22
22 26 UG = Harih om (WJA=4) [ @ [V %9959 E0TY7 11.49 11.49 | 21
23 3 58( BRIl ERF [DAS 2 |V evh7vENTIT 11.52 1152 | 20
23| 53 50(dh )1l {£3 EF (hf12) Q |#enyrsvrse-naanzin | 11.52 1152 | 20
25 6 9(HFE AHZ [Ta/ & |3ZFaTE V- 11.54 1154 | 18
26 40 82(IUTFT AEF |Vt R |MT—F 11.65 1165 | 17
27| 48 59(R)II £ERF [Khd R |V wvh7vENTIT 11.84 1184 | 16
28 13 83(ILA HBF #ZE (7A) 2 |V v 79ENTIT 11.86 1186 | 15
29| 54 14| K8 B2z " & |9zhyaa-%-Av7E-5 | 11.92 1192 | 14
30[ 45 37|EE &Ea Ei=ly) & |FMF—KIL 11.95 1195 | 13
31| 33 3578M =8 Elsa(Z4%) Q |la—A4 ko T4I|  12.06 12.06 | 12
32( 21 T2(#BHE RA oo— S |V vvh vt TT 1213 1213 | 11
33 18 22(BE0 % B3 (V5) R |4 12.63 1263 | 10
34 29 T4(#ak fEF x—7 2 Y79 ENTIT 12.70 1270 | 9
35( 28 26|EE =0 oEY |V evI79ELTYT 12.72 1272 | 8
36| 25 32|MA £ <UT N A =, 13.49 1349 | 7
37| 42 36|=1E IEF (632} @ |MIVFIRI-TYT 14.41 1441 6
38| 27 5 5@ & HAT 2 |V evh7vENTIT 14.48 1448 | 5
39 47 49(FIBN F BX(7M1E-) L |V evivENT)T 14.74 1474 4
40 9 78[F%F EHHE REE 2 |V evh7vENTIT 16.39 1639 | 3
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411 43 69|JEA BEX R3% 2 [V evh7vENTIT 17.04 1704 | 2
42| 31 63|=R LOA |Lwlw R A=Y v—TUT 17.20 1720 | 1
43 16 29Ik FIEF |BE 2 |V evh7vENTIT 17.42 17.42
44 46 11|HEH #F AL 2 |kT—FL 17.63 17.63
45| 36 4|1 BE BF 24 @ |FI7 18.00 18.00
46| 44 47| Ft il 2 [wF-z 20.60 20.60
47( 51 16| KT D&KL |98 S Z=FaTAVIRIVN 2347 23.47
48 34 25(AE FT& i |V w79 ELTYT 27.98 27.98
49 10 66|12 R HXF |BA(HH) 2 Y evh7vENTIT 30.97 3097
50| 15 45| 2 HE J\BBL(nIL) P |3=Fa7HIRIUN 34.97 34.97
51 14 85|iE0 BA3 y— & |ZzFaTE U - 47.64 47.64
52| 22 41(EY HEF =7 @ |vTbva-%-Av7-y K& K&
53 2 51(f)II =& EF(THNI) | ? [Z2vUR Bt Z=5h
54| 38 68|38 BAF Chloe (YA T) & |V evivENT)T TiEidE| 30 &G
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